


7o fwaraes e

(a) Find the 20th term of the AP 3, 5, 7, ... .
G 2% 3, 5, 7, ... I 2099 oCo! ey 70 1

(b) What is the difference between f(a) and lim f(x) ?
fla) ¥ lim f(x) 3 e e 2

(c) Write three sources of collection of secondary data.
¢ o e FEfAGT Tt ot o

(d) At which point the two cumulative frequency curves
intersect each other?

& Re 74T IR (7Y (12 FoI0 0 2

(e) For a moderately skewed distribution, what relation
between mean, median and mode exists?

Wmﬁtﬂ@mmqmm,ﬂwwwmmﬁs?

() Ifry =0, whatis the value of cov(x,y) and how are x
and y related?

i 7y = O, cov(x, YFI T R ? x W y 3 e 71 & 2
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(3)

(g9 What does an index number signify?
PRI P 2

(h) Write two uses of index number.

SHIIIFI o1 TR TTEHY A1 |

(i) What do you mean by vital rate?
(&) 71T Jfeicel & g 2

() You are given TFR=5000 per thousand, male and
female ratio 60 : 40, find out GRR.

fim W TFR=5000 #f% TeEe & FN-AER oo
60 : 40, GRR fAefq <1 |

(k) Give two examples of irregular variation in time series.

P SRS Bo (SO)F o et |

() Write down two merits of moving average method.

578 TS ~[@ios K5I 1 SCEy 91 |

2. If sy, s;, s3 are respectively the sum of first n, 2n, 3n terms
of an AP, then show that s3 =3(s; — 59). 3

% sy, sy, S3 T WG A GO &AAY 1B, 270, 3nbI o T
@, (AUIACH C‘?’i\‘iﬁl @83 =3(32 _Sl)‘
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3. In a get-together, each gentleman shakes hands once with
one another in the meet. The total number of hand shakes
is 28. Find the number of gentlemen in the meet.

aﬁﬁﬂmmﬁwwwmmmuqk
I RN 28 275 A §9 SHCAR e Ay 9 |

4. A function is defined as follows :
9] FoI ST TR 4909 SewRT -
fx) = x? ; x<l1
=2-5 ; x=1
=x2 +2 > |
Does lim f(x) exist?

x—1

limlf(x)awﬁﬁwmwﬁ?

5. Evaluate :
= fefg <1 -

X

e
1+e*

L

6. State the limitations of statistics.
AP ReEa TRzl S1ce- 41 |
Or / 941

Distinguish between schedule and questionnaire.

S S e ed #A1ef< Ro| 4 |
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7. What do you mean by ogive? What are the different types

10.
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(5)

of ogive? 3
wfore wiew 76 2 Rfen g1om wfrs & @2
A test in algebra given to 400 high school children of
whom 150 were boys and 250 were girls. The mean score
of boys was 72 and that of girls was 73. Find the mean
score of the combined group. 3
400 & T% e «1'q1-cgmie b1 Aserfaes [ fifeer | Fired
150 & =’ SF 250 w4 @R | T A A9 72 WF AN
73. TCAI6! 7o19 1% w7 ey 40 |
Write a note on quartiles. 3
S @oq 9Bl (Bl ol |
Which is the best measure of dispersion? Give reason. 3
PO CAIPE Wof 19 2 I 7ife <

Or / &%41

The mean, mode and SD of a distribution are 40, 525 and
10 respectively. Find the coefficient of skewness. Draw a
rough sketch of the frequency curve of the distribution
and show the relative positions of the mean, median and

mode on the graph. 1%+1%=3
91 e Wiy, Iz e aWfae Reem ww 40, 52:5 9F 10.

(AT BT Tfredr | RemmoR IRERS IFT GI GO S 9] |
(FTYCHT® 1Y, NN SIF IZoTP] T SAEHCO! (RSl |

[ Contd.



12.

13.

14.

115,

16.

cient of Qre_g‘r_essai-on.
YA (U TR BT C2CR TR SIS BTG NG |

Why is index number called ‘economic barometer’?
Explain it. 3
PRI AT TR T 3 e e = 7 I 90

What are the uses of cost of living index number (CLIN)? 3
iz PRI IR [ 2

Define crude death rate. Why is CDR not an appropriate
measure of mortality? 1%2+1%=3

sefte o1 2199 kel fran | Serfie T9r 79S[R I /[ AN CRaS
Torge 61 51 T T ?

Write a short note on gross reproduction rate. 3
¥ ofEwA T4 SRS @bl 5 (B foret |

Or / &3T
“Net reproduction rate is a hypothetical figure.” Explain it. 3
oS o ZI9 GO ATRIEE SR 1”7 T 3947 |

Discuss the necessities of time series data. 3

FECAT BUR ATAGARS] S F4T |
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(7)

17. Explain the causes of occurring seasonal variation in time

18.

19.

series data. 3
TS S ARG FRPTgR T 4 |
Or / <1

Write a note on random or irregular variation.

O A ST ARG @orq B (B o |
Ifa* +bY=a+b, a* ! + b¥ 1 =2, then find the values of x
and y. S
I a* +bY =a+b, a* ! +bY! =2, (o® x WA YA T AT 41 |

Or / =331

9
In the expansion of (x2 _ﬁ) , the term free from x is

x
5376. Find a.

9
(x2 —3) I 2PTRTS x IS Mol 2°d 5376. a I+ e 41 |
5,5

(@) Find :
[CREIE S
. a-va?-x?
lim 5
x—0 b
(b) Evaluate :
T fRefa <0
[PRiees cix 2Y4+24=5

/438 [ Contd.



r'- (8) .‘

20. Explain the different methods of collecting primary data. 5
AR O ez RS rafeomza e o w4 |
Or / 5331

Describe the qualities that a good questionnaire should
have.

O ST 2ARAR e 9efqr ¥4 |

21. What is histogram? Draw a histogram from the following
data : 1+4=5

e’ 1 7 were i SepiEs o/ b1 R A e 4

Class interval : 10-20 20-30 30-40 40-50 50-60 60-70 70-80
191 SFT

Frequency : 3 10 14 24 ] 73 14 3
SR SIR I

Or / §2=1

Calculate the missing frequency from the following data.
You are given that the mean is 509 : &

o7 Tl S 41 e AasIreIcst Mo 9991 1 are i Wi 50-0 -

Marks No. of students
777 IR T3
0-20 ‘ 5
20-40 ?
40-60 30
60-80 12
80-100 8
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22.

(9)

Show that standard de
origin but not of scale.

LS QPR AR e e RveRe T 9@ A B SR
CFTO 2 |

viation is independent of change of

Or / w1

The regression €quation of x on y is 3y — 5x +180 = 0. Given

that § =4, o- =%o‘§ and n=4., Find r and Xx.

Yl SR® oA SRR AT 3y -5x+180=0. W Ww® § =

G 2 WF n =4 r wF %I TH Rl 9 |

* " 16 Y
23. Discuss the various steps in the construction of consumer
price index.
CoTSTE o7 S 1o Rifew etesser R fore |
Or / 5311
Calculate Fisher’s index number from the following data :
TS Tl S “91 RrRies 5 fef <4
Base year Current year
Commodity fofe 3y 5fe® 3§
i Price Quantity Price Quantity
o7 911 o7 QISIGH
A 5 7  d 4
B 3 2 4 3
c 1 5 1 5
D 4 4 6 3
/438
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‘briefly ‘general fertility rate’ and ‘total fertility

o1 T W g5 Tl 7 SYLE I I

Or / 931

Calculate crude and standard death rates of the local
population :

AR SPRYA WS W ARFs JgrRe R 4 :

Age Standard Local No. of deaths
7 population | population yoRRA
AT SR | A G
0-10 600 400 16
10-20 1000 1500 6
20-60 3000 2400 24
60-100 400 700 21

25. The following are production of a company. Fit a trend line

by semi-average method : 5
|
9Bl @A Seqwas ARG were i W | we-rs Amfere eirerel
P 91 :
Year 1960|1961|1962| 1963|1964 | 1965| 1966
RY
Production | 40 | 60 S0 | 70 95 75 S50
(’000 units)
T
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